Guccione

1 “interface” component

This component has no equations.

2 ‘“equations” component

Q_calculation
Q= (2 s 2% (B11 + E22 + E33) + 3 (E11)% + c4 * ((E33)2 +(B22) + (B23)° 2) 2% chx ((E13)2 + (E12)2))
Tdevll_calculation

Tdevll = 0.5 % cl % €9 % (2% 2+ 2 % 3 x E11)

Tdev22_calculation
Tdev22 = 0.5 % cl % e % (2% 2 + 2 % c4 x £22)

Tdev33_calculation
Tdev33 = 0.5 % cl % €9 % (2% 2 + 2 % ¢4 x E33)

Tdev12_calculation
Tdevl2 = 0.5 cl *e? % 2% ch* E12

Tdev13_calculation
Tdevl3 =0.5%cl*e® x2xch* F13

Tdev23_calculation
Tdev23 = 0.5 % ¢l * €9 % 2 % ¢b * E23



